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A9 357,118| 366,247 -9,129
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2. 758} w8 1] 3,447| 28,840 -25,393
1.7%3}%-3f g5 3,447 28,840 -25,393| " ¥}%-3tu&EH] © -25,393,0009 < 13]= -25,393,000
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2. A4 1,445 1,445 0
1. 22 o) Zh o 1,445 1,445 0
1. 22k zh o) 1,445 1,445 0
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ZE AR EE -27,0009 <X 1= -27,000
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6.9 7o w7 gHg 36,736/ 36,899 -163
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2,35 = 200 200 0
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3. (BEA)AE=FH A 125 125 0
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4.(FoA) Bl Es&dH 9,858 9,903 -45

1. 30589 n) 9,858 9,903 -45|28 7] ol el & E & QH]  -45,0009 < 13]= -45,000
5.(ZA)Sa AT =ZHA Mo &E 1,670 1,670 0
1. 0589 1,670 1,670 0
6. (o] ) AF=ITHA ol T 1,290 1,290 0
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4. 54 S 5,736 5,736 0
1.8 ¢ 5,736 5,736 0
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2. BAAG AT S0 1,965 2,000 =35 A Al )3 -35,0009 < 13]= -35,000
2. (FAA) A7) ol 2 A K 25 (B D8 4B 3,472 -35
1. 05| 3,437 3,472 =35 AT AET U -35,0009 X 17 = -35,000
n5gdE 449,550 458,099 -8,549
& £ 3,447| 28,840, -25,393
58k 3,447 28,840 25,393
1. (52 B} 58} 3 5 3,447 28,840 -25,393
1. 05890 3,447 28,840 -25,393| W HFTwEEH]  -25,393,0009 X 13]= -25,393,000
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EXSEED 52,166| 54,152  -1,986
1. AR Q1 AR 29,406/ 30,703  -1,297
1571 A k4 1700 26,802| 28,095  -1,293|AFA917AR]  -197,0009) X 1= -197,000
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